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l. (a)

,

Which constitutional amendments were made to implement GST in

India? (8)

O) RJ Enterprises is setting up its new business. They want to know the

situations under which they will become liable for registration under GST.

Advise them. (6)

(c) Briefly explain the provisions regarding the exemptions ofthe following

servtces:

(i) Renting of Residential dwelling

(ii) Transportation of passengers (4)

OR

(a) Explain the term cascading effect with the help of a suitable example. Illustrate

how the cascading effect was eliminated by implementing GST? (8)

@) Veena Toys desires to set up its business in Delhi to supply toys in different

states of INDIA. Is it compulsory for them to register themselves under

GST? Explain under which cases GST registration is compulsory under section

24? (6)

(c) Briefly explain the provisions regarding the exemptions ofthe following

servlces:

(i) Transportation of goods

(ii) Services provided by an educational institution (4)
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2. (a)

3

Determine the place of supp_ly for the following independent cases under the

IGST Act, 2017 :

(i) Ujjwal Events, an event management company at Koikata, organises

two award functions for Arnav Jewellers of Chennai (Registered in

Chennai, Tamil Nadu) at New Delhi and at Singapore.

(ii) Golu Planners (Bengaluru, Karnataka) is hired by Rahul (an unregistered

person based in Kochi, Kerala) to plan and organise his son's wedding

at Mumbai, Maharashtra. Will your answer be different if the wedding

is to take place at Malaysia? (6)

(b) Explain the composite supply and mixed supply. If a trader launches a package

sale for marriage containing double bed, refrigerator, washing machine,

wooden wardrobe at a single rate. He is issuing invoice showing value of

each good separately. Whether this is a case of mixed supply or composite

supply. Explain. (6)

(c) Determine the time of supply from the following particulars :

(6)

66 May Booking of convention hall, sum agreed 1 5000, advmce of

3000 received

156 Sep Function held in convention hall

27h Oct Invoice issued for 15000, including balance of 12000 payable

3d Nov Balance payment of 12000 received

OR

P.T,O.
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(a)

.4
Parul Ltd. is a manufacturer of gift items and other related products. It

supplied a 'FAMILY PACKAGE' consisting of toys (GST rate - l8%),

beauty cream (GST rate - 28%), baby care products (GST rate - l2o/o) and,

cocoa balls (GST rate - 12%). The price per package is t1,000 (exclusive

of taxes). 25,000 packages are supplied by the company to its dealers.

Determine the nature of supply (composite/mixed) and its tax liability.

(6)

(b) Pankaj lndustries Ltd engaged the services ofa transporter for road Transport

ofa consignment on 7'h June and made an advance payment for the transport

on the same date, i.e., 7'h June. However, the consignment could not be sent

immediately on account of a strike in the factory, and instead was sent on

20n July. The invoice was received from the transporter on 22.d July. What

is the time of supply of The Transporter's service? Transport's service is

taxed on a Reverse Charge Basis. (6)

(c) Explain the provisions regarding place ofsupply of supply of goods as per

CGST Act 2017. (6)

3. (a) Briefly discuss the rules for Input tax credit on capital goods. (6)

(b) What is apportionment of Input tax credit in case of partly taxable and partly

exempt supply? (6)

(c) Difference between following :-

(i) Forward charge and Reverse Charge Mechanism.
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(ii) Outward supply under Reverse charge and Inward supply under Reverse

charge. (3+3:6)

OR

(a) Determine the amount of Input Tax Credit admissible to Mr. Z in respect of

the following items for the month of July 2024.

S.No Particulars Amormt

I Goods or services or botr used for personal consumption. 20,000

2 Free Samples distributed by the company 10,000

3
Work contract services provided by a sub-confador to the main
contractor.

4 Stationery purchased I,000

5
Buses purdrased by a co. for transportation of employees from
their residmce to office and back.

50,00,000

6 Trucks are used for transportation of goods 25,00,000

7
Aircraft is purchased by an Aviation school providing faining
on flying aircmft.

70,000

8 Goods sold by non-resident ta'<able person in India. 8,00,000

9 Raw material to be used in Canteen. 2,50,000

10 Goods used for construction ofresidential building. 90.000

( 10)

(b) Discuss giving reason, who will be liable to make payment of GST to the

Govemment in the following cases :

(i) Mr. N, an insurance agent, provides insurance agent services to

Mr. X for a commission of 10,000.

P.T.O.

1,00,000
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(ii) Cashew nuts supplied by agriculturist.

(iii) Mr. A imported goods from Y of Australia for 10,00,000.

(iv) Supply of services by non-executive director to the company.

(v) Sponsorship services provided by company to partnership firm.

(vi) Supply of Goods Traniport agency, in respect of transportation of

goods by road.

(vii) Services provided by arbitral tribunal to individual.

(viii) X is a unregistered person, supply of renting of immovable property,

other than residential dwelling to registered person. (8)

4. (a) Explain in brief different kinds of eJedgers under GST for every registered

person on GST portal. (6)

(b) What do you mean by E-Commerce. (6)

(c) What are the consequences of Filling return after due date? (6)

OR

(a) X electronics is a registered manufacturer of electrical appliances. It made

contract with dealers, that purchase of air conditioners of capacity 1.5 Ton

in the month of February,202l of quantity of more than 50 units will entitle

them for l0% discount.
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Inter-state supply made during the month of February 2024 is 5,00,00,000

Details of Intra-state supply :

Intra-state inward supplies are :

S,NO Particulars Amowrt

i Itaw marerial 2,00,00,000

)
3

Paid gym membership for employees

Truck purchased for transportation of goods

5,00,000

30,0,00,000

X electronics made supply of air conditioners (capacity 1.5 ton) to only one

dealer named Mr. L.

S.No Particulars Amount

1 Supply of Microwave Ovsn 1,50,00,000

2 Supply of Refrigeraton with stabilizers being a

mixed supply, rate of GST on Refrigerator is 287o

(14% CGST & SGST), rate of GST on stabilizer is

18% (eyo CGST & 9% SGST)

4,00,00,000

3 Supply of air conditioners of capacity 1.5 ton

@50,000 por air conditioner

5,00,00,000

Opening balance of ITC is as under:

P.T.O.

Gym membership for employees is not obligatory for X electronics under

any law.
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CGST 5,8O,OOO

sGST 7,00,000

IGST 1,00,00,000

Note:

(i) Rate of CGST, SGST and IGST are 9%,9% and l8%o respectively

for both inward and outward supplies except where specifically

provided.

(ii) Both inward and outward supplies are exclusive oftaxes.

(iiD All the conditions for availing the ITC have been fulfilled.

Compute the net GST payable in cash by electronics for the month of
Februdry,2024. (14)

(b) Difference between Intra State supply or Inter-State Supply. (4)

5. (a) What is Bill of Entry under customs Laws? (6)

(b) A product was imported by air at CIF price of US$ 10,000. Freight US$

3000 and insurance US$ 1000 was paid. The banker realized the payment

from importer at the exchange rate of 72 Rs. Per dollar. On the same day,

CBIC notified the exchange rate as 71 Rs. per dollar. Find the assessable

value of the product for the purpose oflevying duty. (6)

(c) What do you mean by aggregate turnover? How is aggregate turnover

determined? (6)

8
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OR

(a) Describe briefly the meaning of lndian Territorial Waters and Indian Customs

Waters under the Indian Customs Act. (6)

(b) Explain the provisions related to determination of Taxable event in case of

Imports and Exports under Indian Customs Law. (6)

(c) Define Goods and Services under CGST Act 2017. (6)

1. (o') urm + ffi ar{6r+ + ftc 61t + {furfi-o rrftrc fus ry? (a)

(re) ani ffis ilc{I {qT arqffq t{lR-f, 6( (6r *l t urr* qrE+ I fr fr-{
qfrRrM i E* ffi * ffir tdffiq + frrg s-f,rere +cI c.trr ir* rrf,ra

Qfrqr (o)

(rr) ffikt +qriir- d qe + sft t- yreu+ fr {&c i qret d&q:

(i) anrfta srqm e,r fr-nqr

(t) uM or cR-{ffi (a )

(c'. ) uvga rcrrtur d ram t SdErr nne rrq fr qr@r dfrvr Svr& m1 c,r*
*dBrr nrn s+ **<qr<fr'qrwr? (a)

(e ) ftrr tu mcr + fr fuq rrfll + ffiil d irr$ c,,r+ + frs ffi fr sq{r q{ffq
rvtR-d u.r<r qrat *r wr c.+S fts ffi * nrt qa u} c-$-g,-fr qrqr sRar{

t? {dr{t fr frfi crd- I qRI za * ere ffi q*ffivl qM t? (c )

zll

P.T.O.
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(rr) ffitur +srsl d qe + qR i xqstrI fr d*c { rqrw dlw :

(i) rna tnr ffirr*

(ii) fr'frrtrFravrqrairm{dT€tel{ (a)

(u) vrSffi sBhq{, eou t anrrin ffikr d{ crrd} + frs ffi cr wr,r
ffir dfrq:

(i)*aom 6 r,c. Ela tffie qffi vma fi6,  ffi{ t ir{a ff
(H, Hft-d-{g + c-frf() + fts q{ ffi *( ftngr + * gffiR qcrt"

iffifrf, 6(ft ir
(ii) rilqRFrS (&t-{€, 6-*16) q} rrgd (dtu, *ro d rr* qmr w w-$-fd

qm) ary€,c6rrq{ dc+tt*ur&fr+tr{r<-{r+ fts+ sr&kd
qrt + fts frgm frqr qrm t r qR flrA rTeRrqT d *ft i * wr srq6r fiR
rarr *rn? (c)

ft*) rrrr il$ *{ fifud sr1ffi d qrqT dfuqr qR +{ Elrcrft ura t frs \,a, E+il
t-a gt arrr I ftr<i s6'* E( c{ s{fl fu, tfrr*.r, dfrirr qrt-{, da,-S fr irdclt
rnRa I r qE rrAo. E€ 6T rerr - iliilr tia M gg warr urt m ra i r wr zre

fifud rr t w wr ur1ftl 16T qFrff *r qrqr dRqr (c)

(rr) ffitur ffi + ffi ar rrq frafl?a dfrq:

o.r€ 6&flid"fi*$rrr, tsooo *nRrilr, 3ooo ffi ffic

$rdFt vrql

rs furqt q-i{FrdiliYqrfu srifud

27 JF[(R rsooo 16r qdrc ilft, frrnd tzooo ql ir.Fr{lr nmr* wko

3 ;lrtftR 12000 16T qfiql Trff{nlqt

2.

zn
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(tn) w'aftfrkswr<aq# *r s-qvfrrysriqrffitr*r E{+ffi+ (ffi
rt - rex), ff ffc (ffi a - zeu"), ftg ?Gqra var< (ffi et -
rzz) *tffidfil (ffirt - rzx)tg6'+ftfr++q'fr ffifrr ffi
q+fi**rc n,ooo (e,+dets6r)*r q,q-ftanr ilc+ffid zs,ooo t*c
* il$ fr urfr tr aqffi d ER (ftDefifta) ft Ec6 cr |461gqmt

dFssr (o)

fe) vo-c ffid frrRAs i z qr d v*, qm t rrse, cR{6r * ftv wn 6fr& *
fu ff *r sfr Rft, urft z q+ rt} qt{sq + frs sec Urmrr frqrr srffi,
clrcr* i Us-drd + 6riur crd grc ;rfi- im ur 116r att E<* c-qrq z o gar€ d *or

ur<rr qffi& t vmm zz gar€ d nw gwr qmvl& d *ar d aqftl 6I qlt r tFIt

i? qffi€ d tsr qr fr{d qrd * EmuR vt qt rqrqr urar ir (c)

(r) ftfunff. sfufrqc zorz * wgun rm fr ffi * rqrr* rffi + cnqt* d
qrer dRer (c)

3. (m) 1ftn qEil) cr r<Se *nr +Ee + M + telq d ;d *frsr (c)

(e) urRm w t qr qlrq sk afrm w t q: nw ffi * um* t r<Sc tm nFc

qr fuirtra wr t? (c )

(rl) frE{frfud * {q rtt:-

(i) cir{€ sr$ ft M qr$tdRsq r

(ii) Rqd qr$ * nrd flEq€ {Rr€ ft ft{d qrd * rm ris€ {cilr€ r

(s+s =o )

P.T.O
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qt

(o) gdr€ 2024 1116*ftsffifrHT*+tsU+- fr zdffr{gee-n*Ec
tftrtRrfttfrodFucr

6-.tq. Eaiur {ffI

I qk{rd 3q*q + frssc+{ fr cr} er& eq{ ur

W qr iit-r 20,000

2 qH ar frilRfr frc qrlsr* fuz4eq. q61q 10,000

3 ge E*<r< d sq-*tqr enr ycm* vr*sr&
ml{ rlauWr 1,00,000

4 €terr{ffi I,000

5 u-SqrRqI d si+ Refi[ + firdirq efu qrc€ dr+ *
frs fuft 6q-fr zr<rrqta r€c+r 50,00,000

qrf, * cR'{6{* fts q+1 or sc+{r fu'qr vrrr *r 25,00,000

7 frqFr d lrer+tnr vRqur t+cr+ Rqa-{ftfldc
am Rqr<etcr crdr tr 70,000

8 qrrr t rtt-ffi qt *rq rqRr a{ &r
wtwarqror 8,00,000

9 *ft{ d gq+{r frqr vr} srin ifi:rtr rlrfil 2,50,000

l0 iflrqr$q q€* ffiq + AqB[*rrfrqr
il* qrflr {fir 90,000
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fa) cnor eoil gv mi lfffrs fr ffifufi crqd + sc6r ait ffc(a 6r $rfl" 6'r+

+ 6qqt{Tf,ccl+*|r:

(t) frwwfrqts+., *qmq+ to,ooo tq'ftmw+fi\frefur-drr
qrm lr

(l) pu-o am ffi tris qq 6rEr

(t) * v + sfqfucr + sr€ t ro,00,ooo c,r qm ilrqrd ft'qrr

(iv) qtuft d ft-crfsrt Btsrai Enr t*fr fr ffir
(v) 6ffi anr trffi q{ d y-qm fr rr€ qrdffi fur

('i) rrsc. qrl t qm + cR{f,{ + ffir q crd qfr{6T vAffi fr fl$fr

("ii) que{ qrqEq.<q uro qk d v-slTfr.r{ fur

(vil) vm vo- sr$-ffi atk *, q#f( qk d flsrftc srsm * rarqr sird

{cfr+ffid ffir (a)

(a ) fr vrA +{a w rdq' t*gr arEil + ft c ffi + irrr fr tu;a rmn + t * +{r

*cft t T&s{ qar$r (c)
a

(u) t-oird * ilT6r wr flftqra tr (c)

(r) fta-c ftfr * qrq ffi xt+ + wr qtonc At? (o)

4

STErdIT

P.T.O.
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(c-) tw <*ein+m frga smrtt ar rfi-ga ffiar tr Es+ffi d {rl ffdcu tuqr

ifrq,'cst, zozr *qff*{ soqket sfuoqrart 1s 61 6q-61$grto*rr<t

d €td rn rt mx qr ft*lhr

rnrqt zoza +{&+++{Frfr.r{ rrr-rr*q ffi s,oo,oo,ooo il
fr-fi-rrffic ffi ar E-+tot:

6-IT q E-fiur ttFr

i qqfr1+{ *c-{d sr{ffi r,s0,00,000

2 €c-drrs6 * qMiR+& d ilr{il fftud
il$ f, tffia qt ffi 6 Et zex
(rax flffi ft clrfrcr&) B, €c.dr{mr
qt ffi d Er ux (ex $-ffi uk
cz" rruffi) *r 4,00,00,000

J r.s z;r errtflT sr+ vR c'.S{T{ d irr$
@so,ooo ffi g{R 6A{Tr 5,00,00,000

Br-fl-rrdftc irn-* sn{ild Er y-qn l:

c6-{t 1T Fctur {rBr

,] 6"!EIq-d 2,00,00,000

2 6{qrfu}* ftvtga' frqt-{sdr 5,00,000

3 qIil * qR€{* ftvrst-a rrar qm 30,0 ,00,000

r,-c{ EHrFir i * vtr cr{r6 +{fi 9+' +trr a} cqt 6SqTt (errn r.s rr) fr
ffi *r Effi * q6t rrt trrc t@m + frq c.+qrfrq] + frs tuq *
rrEta61 sM <& tr srf&fr qr cRft-o.tc fiqEffi t:
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fi-ffi s,ao,ooo

rrs-ffi 7,oo,ooo

fieffi l,oo,oo,ooo

(r) mffi, c{-ffi ak ffi€ffi d ?r lnirr: syo, e% *r rcz t, R-qrq

EErfriqwtlrqfl{fuqrlrqt*r

(ii) iil{+. *r urcm'++ sr$ o,t t 1q g1

(li) ur{&fr ar an v6r+ fr rrt rrt $ A r€ *r qreft , zoza * qfrt t fts
EWkff Er{T ;trfi-E t tq E-d fr'RrA d rrur+ tfr&gr (rn)

(e) enrmna ffiw s-fl-rtt*q ilr$+fiq crmdfrqr (a )

(a) frq Eta- eqr * rre fta silr (Q wr t? (o)

(e) r'+. v<n d E-ni crl t rc,obo qifrfr dilr * frur€vr 1u w srqrfr fr-er Tqrr

$nsr 3000 s+R* ifm *r &m moo qlR* d"ir qr lrmm frqr rrqrr tqi( t
srqrc-o t zz tqt yR tim d frftm ct vr 1rrdr+ qr"m ft'atr lr$ fa-;r, +ew{*
t Rfrqq et zt wt vfr ittt aGrqkr fr r geo flr* d stsq t vtvre ei garar;r

ftr1a art dftqr (o)

(u) !E-d 6rncr + ilq-or f,r sRnrc t? 5a artcn et ffrur d* frar urcr *?

(o)

+e

5.

P.T.O.
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qI

(c.) qnftq fiqr E[t- flerfrff + nrc qrcftc vAffIEi qa att qr&c frcr {F6' mI ifil

r{ {*c } qarE}r (o)

(rr) wcfta fin gm arlr* rre srqm *t ffia * qFril d 6r +rq qa{r + Mtu
+ {-&fl crsq+ * tqrer dfrgr (o)

(rr) mffi stufrc{ 2017 + iIF( eqS ft+{d d qR{tut dftst (e )

(30000)


